HIS P ol e R

H FRk 004£10 01 H = Ak 0045104 31 H

OOOOOEKEH oo BN TFH
o= R H a5 EIH [VNE o) 157 Tavs H ()
& H Akt BBPH b & H ARkt BBPA b & H Rkt BBPA b & H TRkt BBPA b & H A4 & H Akt EBP9 b
|t I = 32,752 100.0  100.0 29,094 100.0  88.8 8,421 100.0  25.7 3,164 100.0 9.7 3,164/ 100.0 9.7 3,659/ 100.0  11.2
JgG
E
il
=
5t IS = g 32,752 100.0  100.0 29,094 100.0  88.8 8,421 100.0/ 25.7 3,164 100.0 9.7 3,164 100.0 9.7 3,659 100.0  11.2
HMoom M o®\ E
il s 1 A 5 17,152 52.4  100.0 15,494  53.3  90.3 5,825 69.2  34.0 1,405  44.4 8.2 1,405  44.4 8.2 1,659  45.3 9.7
R R
I N 3,039 9.3 100.0 3,039/  10.4 100.0
| B xR 7 Bt
i z O fh E ® B 1,143 3.5 100.0 1,143 3.9 100.0 1,143 13.6  100.0 1,143 36.1 100.0 1,143 36.1 100.0
wm ok omom s
= &) % i 21,334 65.1 100.0 19,675  67.6/ 92.2 6,968  82.8] 32.7 2,548 80.5 11.9 2,548 80.5 11.9 1,659 45.3 7.8
L F) o 11,418  34.9 100.0 9,418  32.4/ 825 1,453  17.2  12.7 615  19.5 5.4 615  19.5 5.4 2,000 54.7 17.5
1% =] pand il 820 2.5 100.0 820/ 22.4 100.0
)\ﬁ B F ﬁ 2,040 6.2 100.0 351 1.2 17.2 351 42 17.2 351 11.1  17.2 351 11.1 17.2 1,689  46.2  82.8
H
= I - ¢ 244 0.7 100.0 44 0.2 18.0 44 0.5  18.0 44 1.4 18.0 44 1.4 18.0 200 5.5 82.0
fhlwm F B A& & 12 0.0 100.0 8 0.0  67.6 8 0.1  67.6 8 0.2  67.6 8 0.2  67.6 4 0.1 324
.||
(i
#
DN 4 & i 3,115 9.5 100.0 403 1.4 12.9 403 4.8 12.9 403 127 12.9 403 127 12.9 2,712]  74.1 87.1
" H #H F &
| |1 & E % 611 1.9 100.0 611 2.1 100.0
MNE &% & & % 2,381 7.3 100.0 2,381 65.1 100.0
Y [ 2 247 0.8 100.0 247 0.8 100.0
Klpehit % 2z W@ & 151 0.5 100.0 17 0.1 11.2 17 0.2 11.2 17 0.5 11.2 17 0.5 11.2 134 3.7 88.8
i 15 # 156 0.5 100.0 156 0.5 100.0 74 0.9 475 61 1.9  39.0 61 1.9  39.0
| | #E A iy 51 0.2 100.0 51 0.2 100.0 51 0.6 100.0 51 1.6 100.0 51 1.6 100.0
i Ul % A & # 0.0 100.0 0.0 100.0 0.0 100.0 0.0 100.0 0.0 100.0
: & s % 10 0.0 100.0 10 0.3 100.0
#um HOOt B & 213 0.6 100.0 213 0.7 100.0 160 1.9  75.0 160 5.0  75.0 160 5.0 75.0
i X B F K 52 0.2 100.0 52 1.4 100.0
H 0] % 82 0.3 100.0 82 0.3 100.0
fiiz| 44| Ht X E3 & 535 1.6 100.0 295 1.0, 55.2 290 3.4 54.1 290 9.2  54.1 290 9.2  54.1 240 6.6  44.8
) — A £ 17 0.1 100.0 17 0.1 100.0 5 0.1 29.9 5 0.2  29.9 5 0.2  29.9
| (G 53 Bt 46 0.1 100.0 46 0.2 100.0
B B N B 3 0.0 100.0 3 0.1 100.0
o = = ¢
f_ﬂiﬁm‘é’ ¥ T B %
i & 1t Bl 43 0.1 100.0 43 0.1 100.0 43 0.5 100.0 43 1.3 100.0 43 1.3 100.0
L O I~ S S
P - N O
L I N < S
P I S S
# N2 LIS O BiE 2 4,597 14.0, 100.0 1,777 6.1  38.7 639 7.6 13.9 626/ 19.8  13.6 626/ 19.8  13.6 2,820  77.1] 61.3
— CEE- I 7,712 23.5 100.0 2,180 7.5 28.3 1,042 124 135 1,029 325  13.3 1,029 325  13.3 5,532] 151.2] 71.7
= ¥ i ! i 3,707 11.3  100.0 7,238 24.9 195.3 410 49  11.1 A413 AI3.1 All2 A413 Al13.1 AI1l2 A3532 A96.5 A95.3
OO I W A
wO¥E AN B H A G 20 0.1 100.0 20 0.5 100.0
iE E i 7,732 23.6  100.0 2,180 7.5/  28.2 1,042 124 135 1,029 325  13.3 1,029 325  13.3 5,551 151.7] 71.8
e " Ei ! & 3,687 11.3  100.0 7,238 24.9 196.3 410 49  11.1 A413 A13.1 All1.2 A413 Al13.1 Al1.2 A3551 A97.1 A96.3
L
[ -
PS5l @l k2R 3,687 11.3 100.0 7,238 249 196.3 410 49 11.1 A413 AI13.1 All2 A413 Al13.1 AI11.2 A3551] A97.1 A96.3

HB PR A 5 (A1)

P.67




